## Project Name: Arundell Barranca Hydraulic Deficiency Spec. No. WP19-03 Improvements Abstract of Bids opened on: August 30, 2018

ENGINEER'S ESTIMATE: 565,000.00

LOW BIDDER - CERCO Engineering Westlake, CA 91391	533,500.00
2nd Bidder - GMZ Engineering Inc. Agoura Hills, CA 91301	604,476.00
3rd Bidder - Toro Enterprises, Inc. Oxnard, CA 93031	608,925.00
4th Bidder - Bosco Constructors, Inc. Chatsworth, CA 91311	612,484.00
5th Bidder - Union Engineering Company, Inc. Ventura, CA 93002-1000	789,724.00
6th Bidder - Granite Construction Company Santa Barbara, CA 93160	799,880.00
7th Bidder - KEC Engineering Corona, CA 92882	999,888.00

The undersigned certifies that the bids abstracted above were received on beha of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

	pened on: August 30, 2018			ENGINEER'S	ESTIMATE	LOW BIDDER			2nd Bidder	
Projec	t Name: Arundell Barranca Hydraulic Deficiency					CERCO Engineer			GMZ Engineering	Inc.
Impro	vements					682 Triunfo Canyo	on Rd		5739 Kanan Rd. #	134
						Westlake, CA 913	391	- 1	Agoura Hills, CA 9	1301
	Spec. No. WP19-03									
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL		UNIT PRICE	TOTAL
1	Mobilization	LS	1	56,715.00	56,715.00	6,550.00	6,550.00		27,000.00	27,000.00
2	Clearing and Grubbing	LS	1	1,000.00	1,000.00	4,325.00	4,325.00		25,000.00	25,000.00
3	Diversion, Control and Removal of Water	LS	1,	80,000.00	80,000.00	11,400.00	11,400.00		35,000.00	35,000.00
4	Water Pollution Control	LS	1	10,000.00	10,000.00	6,550.00	6,550.00		25,000.00	25,000.00
5	Existing Facilities	LS	1	60,000.00	60,000.00	115,115.00	115,115.00		65,000.00	65,000.00
6	Excavation Safety and Shoring	LS	1	25,000.00	25,000.00	32,500.00	32,500.00		50,000.00	50,000.00
7	Excavation	CY	500	100.00	50,000.00	55.00	27,500.00	E	65.00	32,500.00 E
8	Fill and Backfill	CY	415	113.00	46,895.00	105.00	43,575.00	Ε	65.00	26,975.00 E
9	Reinforcing Steel For Major Structures	LB	24800	2.00	49,600.00	2,20	54,560.00		2.50	62,000.00
10	Concrete For Major Structures	CY	124	600,00	74,400.00	510.00	63,240.00		1,250.00	155,000.00
11	CMB Access Road	SY	66	54.00	3,564.00	232.00	15,312.00		100.00	6,600.00
12	Shotcrete Slope Wall	SF	485	80.00	38,800.00	20.00	9,700.00		10.00	4,850.00
13	AC Pavement	SY	256	90.00	23,040.00	124.00	31,744.00		60.00	15,360.00
14	Subdrain Pipe	LF	127	15.00	1,905.00	50.00	6,350.00		100.00	12,700.00
15	Chain Link Fence	LF	430	25.00	10,750.00	78.00	33,540.00		75.00	32,250.00
16	Temporary Chain Link Fence	LF	500	10.00	5,000.00	13.00	6,500.00		5.00	2,500.00
17	Filter Material A	CY	163	60.00	9,780.00	135.00	22,005.00		50.00	8,150.00
18	Filter Material B	CY	15	90.00	1,350.00	195.00	2,925.00		50.00	750.00
19	Commercial Concrete Driveway	LS	1	4,000.00	4,000.00	13,945.00	13,945.00		5,000.00	5,000.00
20	Concrete Curb and Gutter	LF	40	35.00	1,400.00	90.00	3,600.00		30.00	1,200.00
21	Modified Concrete V-Ditch	LF	8	100.00	800.00	262.00	2,096.00		20.00	160.00
22	Concrete Walk	SF	124	25.00	3,100.00	12.00	1,488.00		20.00	2,480.00
23	Grouted Cobble Facing	CY	1	200.00	200.00	1,200.00	1,200.00		1,000.00	1,000.00
24	Locking Bollards	EA	1	500.00	500.00	2,800.00	2,800.00		1,000.00	1,000.00
25	Sign Post and Signage	LS	1	200.00	200.00	4,500.00	4,500.00		1,000.00	1,000.00
26	Traffic Control	LS	1	5,000.00	5,000.00	6,550.00	6,550.00		5,000.00	5,000.00
27	Removal of Irrigation Line	LS	1	2,000.00	2,000.00	3,929.00	3,929.00		1,000.00	1,000.00
28	Release on Contract	LS	1	1.00	1.00	1.00	1.00		1.00	1.00
	TOTAL				565,000.00		533,500.00	Α		604,476.00 A

Bids o	pened on: August 30, 2018	3rd Bidder		4th Bidder		5th Bidder	
Projec	Name: Arundell Barranca Hydraulic Deficiency	Toro Enterprises, In	nc.	Bosco Constructo	rs, Inc.	Union Engineerin	g Company, Inc.
Improv	ements	P.O. Box 6285		21353 Mayall St.		P.O. Box 1000	
		Oxnard, CA 93031		Chatsworth, CA 9	1311	Ventura, CA 9300	02-1000
	Spec. No. WP 19-03					L .	
ITEM							
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	38,000.00	38,000.00	70,000.00	70,000.00	71,736.00	71,736.00
2	Clearing and Grubbing	9,150.00	9,150.00	10,000.00	10,000.00	7,242.00	7,242.00
3	Diversion, Control and Removal of Water	44,150.00	44,150.00	69,492.00	69,492.00	174,929.00	174,929.00
4	Water Pollution Control	7,140.00	7,140.00	7,118.00	7,118.00	11,379.00	11,379.00
5	Existing Facilities	139,200.00	139,200.00	100,009.00	100,009.00	38,995,00	38,995.00
6	Excavation Safety and Shoring	2,460.00	2,460.00	29,840,00	29,840.00	49,623.00	49,623.00
7	Excavation	97.50	48,750.00	80.00	40,000.00	72.00	36,000.00 E
8	Fill and Backfill	140.00	58,100.00	56.00	23,240.00 E	123.00	51,045.00 E
9	Reinforcing Steel For Major Structures	1.73	42,904.00	2.00	49,600.00	2.00	49,600.00
10	Concrete For Major Structures	748.00	92,752.00	E 644.00	79,856.00	952.00	118,048.00
11	CMB Access Road	42.50	2,805.00	92.00	6,072.00	95.00	6,270.00
12	Shotcrete Slope Wall	45.00	21,825.00	36.00	17,460.00	30,00	14,550.00
13	AC Pavement	58.00	14,848.00	60,00	15,360.00	180.00	46,080.00
14	Subdrain Pipe	34.00	4,318.00	65.00	8,255.00	49.00	6,223.00
15	Chain Link Fence	44.00	18,920.00	25.00	10,750.00	45.00	19,350.00
16	Temporary Chain Link Fence	15.00	7,500.00	27.00	13,500.00	4.00	2,000.00
17	Filter Material A	141.00	22,983.00	85.00	13,855.00	196.00	31,948.00
18	Filter Material B	161,00	2,415.00	209.00	3,135.00	240.00	3,600.00
19	Commercial Concrete Driveway	5,800.00	5,800.00	6,209.00	6,209.00	14,329.00	14,329.00
20	Concrete Curb and Gutter	67.00	2,680.00	116.00	4,640.00	125.00	5,000.00
21	Modified Concrete V-Ditch	224.00	1,792.00	234.00	1,872.00	500.00	4,000.00
22	Concrete Walk	23.00	2,852.00	17.00	2,108.00	34.00	4,216.00
23	Grouted Cobble Facing	2,065.00	2,065.00	3,620.00	3,620.00	1,863.00	1,863.00
24	Locking Bollards	1,550.00	1,550.00	3,050.00	3,050.00	1,587.00	1,587.00
25	Sign Post and Signage	1,100.00	1,100.00	1,352.00	1,352.00	1,932.00	1,932.00
26	Traffic Control	11,350.00	11,350.00	15,000.00	15,000.00	7,271.00	7,271.00
27	Removal of Irrigation Line	1,515.00	1,515.00	7,090.00	7,090.00	10,907.00	10,907.00
28	Release on Contract	1.00	1.00	1.00	1.00	1.00	1.00
	TOTAL		608,925.00		612,484.00 A		789,724.00 A

Bids o	pened on: August 30, 2018	6th Bidder		7th Bidder	
Projec	t Name: Arundell Barranca Hydraulic Deficiency	Granite Constructi	on Company	KEC Engineering	
Impro	vements	P.O. Box 6744		200 N. Sherman A	ve,
		Santa Barbara, CA	A 93160	Corona, CA 92882	2
	Spec. No. WP19-03				
ITEM					
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	8,800.00	8,800.00	22,629.00	22,629.00
2	Clearing and Grubbing	3,460.00	3,460.00	7,000.00	7,000.00
3	Diversion, Control and Removal of Water	156,110.00	156,110.00	155,000.00	155,000.00
4	Water Pollution Control	24,730.00	24,730.00	12,000.00	12,000.00
5	Existing Facilities	91,055.00	91,055.00	90,000.00	90,000.00
6	Excavation Safety and Shoring	39,975.00	39,975.00	150,000.00	150,000.00
7	Excavation	135.00	67,500.00	105.00	52,500.00
8	Fill and Backfill	75.00	31,125.00	140.00	58,100.00
9	Reinforcing Steel For Major Structures	1.85	45,880.00	2.20	54,560.00
10	Concrete For Major Structures	1,450.00	179,800.00	1,075.00	133,300.00
11	CMB Access Road	39.00	2,574.00	99.00	6,534.00
12	Shotcrete Slope Wall	57.00	27,645.00	58.00	28,130.00
13	AC Pavement	68.00	17,408.00	150.00	38,400.00
14	Subdrain Pipe	32.00	4,064.00	38.00	4,826.00
15	Chain Link Fence	45.00	19,350.00	50.00	21,500.00
16	Temporary Chain Link Fence	15.00	7,500.00	36.00	18,000.00
17	Filter Material A	202.00	32,926.00	235.00	38,305.00
18	Filter Material B	285.00	4,275.00	965.00	14,475.00
19	Commercial Concrete Driveway	4,056.00	4,056.00	7,000.00	7,000.00
20	Concrete Curb and Gutter	80.00	3,200.00	145.00	5,800.00
21	Modified Concrete V-Ditch	380.00	3,040.00	600.00	4,800.00
22	Concrete Walk	21.50	2,666.00	47.00	5,828.00
23	Grouted Cobble Facing	3,300.00	3,300.00	3,700.00	3,700.00
24	Locking Bollards	4,870.00	4,870.00	3,500.00	3,500.00
25	Sign Post and Signage	1,320.00	1,320.00	2,000.00	2,000.00
26	Traffic Control	8,750.00	8,750.00	34,000.00	34,000.00
27	Removal of Irrigation Line	4,500.00	4,500.00	28,000.00	28,000.00
28	Release on Contract	1.00	1.00	1.00	1.00
	TOTAL		799,880.00		999,888.00

Spec. No.WP19-03

## **PROPOSAL**

Contractor's Name	(ERCO	ENGINEERING
Contractor's Name		Frad LACT YEAR

## **List of Subcontractors**

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
BELL'S STEEL CO.	442248	B740 YANDEN ANE NOOTHPIDGE CA 91324	PENTOSCINA
CALIFORNIA PENING AND GRADING MC.	384051	3253 VERDIGO PA LOS AGRIES CA PODES	×
RP BARRICADE	785673	1200 LAWRENCE DRIVE, SUITE#150 MENBURT PARK CA	TRAFFIC COMPOL
		91320	

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

## **PROPOSAL**

Contractor's Name_	61M2	Eshanne	- mind	Inc
	List o	f Subcontractors		

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Amber Stel	268566	312 S. Willows Are Rulto CA 92376.	#9 "Rebar"
<i>Co.</i>		CA 92376.	
			e:

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

